
Q1.	 To what extent has the urban planning and 
culture of the Indus Valley Civilization 
provided inputs to the present day 
urbanization? Discuss.	 (150 words) [10]

Approach to question:
1.	 The Indus Valley Civilization's cities were well-

planned, with streets laid out in a grid pattern 
and had a sophisticated drainage system, which 
has inspired modern urban planning.

2.	 The concept of multi-story buildings, as seen in 
the Indus Valley Civilization's Great Bath and 
other structures, is still prevalent in modern 
urban architecture.

3.	 The Indus Valley Civilization's culture of public 
bathing, as seen in the Great Bath, has inspired 
the construction of modern public swimming 
pools and bathhouses.

4.	 The Indus Valley Civilization's use of seals 
and writing systems is also believed to have 
influenced the development of modern urban 
communication systems.

Answer:
The urban planning and culture of the Indus Valley 
Civilization, which thrived around 2500-1500 BCE in 
what is now modern-day India and Pakistan, have indeed 
provided significant inputs to present-day urbanization. 
While the civilization eventually declined, its legacy 
continues to influence urban planning, architecture, 
and cultural aspects in the Indian subcontinent. Here's 
a discussion of the extent to which the Indus Valley 
Civilization has influenced present-day urbanization:

1.	 Planning and Architecture: Well-planned cities 
with grid-pattern streets and sophisticated 
drainage systems have influenced modern urban 
planning.

2.	 Building Materials: The use of baked bricks as a 
primary building material has influenced modern 
high-rise construction techniques.

3.	 Sanitation: The sophisticated drainage system 
and the concept of public sanitation facilities have 
influenced modern urban sanitation systems.

4.	 Culture and Religion: The civilization's use of seals 
and writing systems has influenced modern urban 
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communication systems and its focus on nature 
worship has influenced modern environmental 
planning.

5.	 Trade and Commerce: The civilization's trade 
network and marketplaces have influenced 
the development of modern urban centres of 
commerce and trade.

In conclusion, the Indus Valley Civilization's urban 
planning, architecture, use of building materials, sanitation 
systems, culture, religion and trade practices have all had 
a significant impact on modern urbanization, showcasing 
the enduring legacy of this ancient civilization.

Q2.	 Gandhara sculpture owed as much to the 
Romans as to the Greeks. Explain.

(150 words) [10]

Approach to question:
1.	 Roman influence is seen in the realism and 

naturalism in the portrayal of human figures in 
Gandhara sculpture.

2.	 The use of drapery in Gandhara sculpture, 
which was influenced by Roman sculpture, is a 
departure from the more stylised Greek drapery.

3.	 The use of architectural elements such as 
columns, pilasters and pediments in Gandhara 
sculpture also shows the influence of Roman 
architecture.

4.	 The influence of Greco-Roman art is seen in 
the fusion of Greek and Roman mythological 
themes with Buddhist iconography in Gandhara 
sculpture.

Answer:
The emergence of Gandhara sculpture in the first century 
CE during the Kushan Empire was characterized by 
a fusion of Greek and Roman styles with Buddhist 
iconography. Gandhara sculpture owed as much to the 
Romans as to the Greeks due to the following reasons:

1.	 Realism and Naturalism: Gandhara sculpture 
adopted the Roman art's realism and naturalism in 
the portrayal of human figures, including the use 
of chiaroscuro for depth and volume. The facial 
features and musculature in Gandhara sculpture 
were more realistic compared to the stylised Greek 
sculpture.
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2.	 Use of Drapery: The use of drapery in Gandhara 
sculpture reflected Roman influence, with more 
natural and fluid folds compared to the stylized 
drapery of Greek sculpture.

3.	 Architectural Elements: Gandhara sculpture 
incorporated Roman architectural elements like 
columns, pilasters and pediments, which were not 
as common in Greek sculpture.

4.	 Fusion of Mythological Themes: Roman art 
influenced Gandhara sculpture's fusion of Greek 
and Roman mythological themes with Buddhist 
iconography. Depicting Buddha as a Roman 
emperor exemplified this unique blend.

In conclusion, the influence of Roman art on Gandhara 
sculpture is evident in its realism, naturalism, use of 
drapery, incorporation of architectural elements and 
fusion of mythological themes. 

Q3.	 Taxila university was one of the oldest 
universities of the world with which were 
associated a number of renowned learned 
personalities of different disciplines. Its 
strategic location caused its fame to flourish, 
but unlike Nalanda, it is not considered as a 
university in the modern sense. Discuss.

(150 words) [10]

Approach to question:
1.	 Flexible Curriculum: Taxila did not have a fixed 

curriculum and students could study any subject 
they wanted. There was no formal degree 
awarded to students and the education was not 
structured as it is in modern universities.

2.	 Lack of Central Authority: Taxila did not have a 
central authority or a governing body to oversee  
the education system. Instead, the education 
system was run by individual teachers, who had 
their own teaching methods and philosophies.

3.	 Emphasis on Practical Skills: Taxila placed more 
emphasis on practical skills rather than theory. 
The focus was on developing skills that would 
be useful in everyday life, such as agriculture, 
engineering and medicine.

4.	 Influence of Buddhism: The education system 
at Taxila was heavily influenced by Buddhism 
and many of the subjects taught were related to 
Buddhism and its teachings.

Answer:
Taxila University, located in present-day Pakistan, was 
an ancient centre of learning from the 5th century BCE 
to the 5th century CE. While not a modern university, it 
was a renowned centre for higher education due to the 
following reasons:

1.	 Lack of Formal Structure: Taxila did not have a 
standardised curriculum or formal structure like 
modern universities. 

2.	 Emphasis on Practical Learning: Practical 
learning, focusing on skills useful in everyday life 
such as agriculture, engineering and medicine, 
was prioritised over theoretical teachings.

3.	 No Formal Degrees: Unlike modern universities, 
Taxila did not award formal degrees or diplomas. 
Students' reputation was based on their teachers' 
prestige and their own skills.

4.	 Buddhist Influence: Taxila was heavily influenced 
by Buddhism, with many subjects related to 
Buddhist teachings. This limited the diversity of 
subjects taught compared to modern universities.

Taxila's strategic location on trade routes between India 
and Central Asia facilitated the exchange of ideas, making 
it an important centre of learning.
In conclusion, despite its differences from modern 
universities, Taxila was a renowned centre of learning that 
attracted scholars and students from various disciplines, 
contributing to the development of education and 
knowledge in ancient times.

Q4.	 The third battle of Panipat was fought in 
1761. Why were so many empire-shaking 
battles fought at Panipat?	 (150 words) [10]

Approach to question:
1.	 Strategic Location: Panipat was located at 

the crossroads of major trade routes and 
was an important centre of commerce and 
transportation. Its strategic location made it a 
coveted prize for many empires and battles were 
fought to gain control of it.

2.	 Access to Resources: The fertile plains around 
Panipat provided abundant food and resources, 
making it an attractive location for empires to 
establish their capital and grow their empire.

3.	 Symbolic Importance: The region around 
Panipat was seen as a symbol of power and 
prestige and its capture was often seen as a 
way to establish dominance over the Indian 
subcontinent.

Answer:
Panipat, located in present-day Haryana, India, witnessed 
three major battles that had a significant impact on Indian 
history for the following reasons:

1.	 Strategic Location: Situated at major trade routes, 
Panipat was a prised location for empires to control 
trade and transportation.

2.	 Access to Resources: The fertile plains around 
Panipat provided abundant food and resources, 
making it an economic and power centre.

3.	 Legacy of Previous Battles: The first two battles of 
Panipat shaped Indian history, with the Mughal 
Empire's establishment and Akbar's rise to power.
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4.	 Clash of Empires: The third battle saw the 
Maratha and Durrani Empires competing for 
control of northern India, leading to the decline of 
the Maratha Empire.

5.	 Military Strategy: The flat terrain allowed for 
large-scale battles, making Panipat an ideal 
location for military engagements.

In conclusion, Panipat's strategic location, resources, 
symbolic significance, historical legacy, empire clashes 
and military advantages led to the occurrence of three 
major battles that shaped Indian history and continue to 
be of great interest to historians and scholars.

Q5.	 Sufis and mediaeval mystic saints failed 
to modify either the religious ideas and 
practices or the outward structure of Hindu/ 
Muslim societies to any appreciable extent. 
Comment.	 (150 words) [10]

Approach to question:
1.	 Sufis and mediaeval mystic saints were known 

for their spiritual teachings and practices that 
emphasised love, devotion and inner purity over 
external forms of religion.

2.	 They did not seek to impose their beliefs on 
others but rather believed in the power of 
personal transformation through spiritual 
practice.

3.	 Despite their teachings, the fundamental 
religious ideas and practices of Hindu and 
Muslim societies remained largely unchanged.

4.	 The social and political structures of these 
societies also remained intact, with little 
influence from the spiritual teachings of the 
Sufis and mystic saints.

Answer:
The medieval period in India witnessed the emergence 
of Sufis and mystic saints who sought to propagate their 
spiritual ideologies among both Hindu and Muslim 
communities. The reasons for their inability to bring 
significant modifications can be analysed through the 
following points:

1.	 Syncretism: Sufis and mystic saints preached 
a message of unity and harmony, emphasising 
the common spiritual essence between religions. 
However, this approach often resulted in 
syncretism, where they blended existing beliefs 
rather than challenging and transforming them.

2.	 Resistance from Clergy: The orthodox religious 
clergy resisted any attempts to modify traditional 
practices, fearing a loss of their authority and 
influence over the masses.

3.	 Societal Inertia: Hindu and Muslim societies were 
deeply entrenched in their respective religious 
practices and social norms. 

4.	 Rulers' Patronage: While some rulers supported 
Sufi saints, they often did so for political reasons 
rather than a genuine desire for religious reform. 

Sufis and medieval mystic saints undoubtedly played 
a crucial role in promoting spirituality and interfaith 
dialogue. However, their inability to substantially modify 
religious ideas and societal structures can be attributed 
to factors such as syncretism, resistance from religious 
authorities, societal inertia.

Q6.	 Examine critically the various facets of 
economic policies of the British in India from 
mid-eighteenth century till independence.

(150 words) [10]

Approach to question:
1.	 Deindustrialization: The British policies led 

to the decline of Indian handicrafts, causing a 
massive loss of employment and poverty.

2.	 Drain of Wealth: The British extracted huge 
amounts of wealth from India in the form of 
taxes, trade imbalances and other economic 
exploitations.

3.	 Land Revenue Policies: The British introduced 
the Zamindari system, leading to the exploitation 
of farmers and agricultural stagnation.

4.	 Currency Policies: The British introduced the 
gold standard, which caused the Indian currency 
to be undervalued and led to a shortage of 
money in the economy.

Answer:
The economic policies of the British in India, spanning 
from the mid-18th century until independence in 1947, 
significantly impacted the Indian economy. A critical 
examination of these policies reveals their complex nature 
and mixed consequences.

1.	 Mercantilism: The British followed mercantilist 
principles, exploiting Indian resources for their 
benefit, leading to deindustrialization and 
crippling the local economy.

2.	 Land Revenue System: The introduction of the 
Permanent Settlement and the Ryotwari system 
burdened farmers, fostering economic disparity 
and poverty.

3.	 Exploitative Trade: India became a supplier of raw 
materials and a captive market for British goods, 
leading to the trade imbalance and weakening 
indigenous industries.

4.	 Infrastructure Development: British investment 
in railways and telecommunication facilitated 
some economic growth but primarily served 
colonial interests.

5.	 Currency and Banking: The British introduced a 
single currency, which standardised trade but also 
led to currency fluctuations.
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6.	 Industrial Policy: Protectionist policies 
discouraged industrial growth, perpetuating 
India's status as an agrarian economy.

The economic policies of the British in India exhibited 
a mixed impact, characterised by exploitation and 
neglect. While some infrastructure development took 
place, it largely served colonial interests, hindering 
India's self-sustained growth and leading to long-lasting 
repercussions on its economy.

Q7.	 In what ways did the navel mutiny prove 
to be the last nail in the coffin of British 
colonial aspirations in India?

(150 words) [10]

Approach to question:
1.	 The naval mutiny of 1946 was a significant 

event in the history of India's struggle for 
independence.

2.	 It started with a strike by naval ratings in 
Bombay, which quickly spread to other parts of 
India.

3.	 The mutiny saw the solidarity of Indian military 
personnel against British authority.

4.	 The British government's handling of the mutiny 
was seen as inept and further damaged their 
reputation in India.

5.	 The mutiny also had political repercussions, as it 
gave impetus to the Indian National Congress's 
demand for immediate independence.

Answer:
The Naval Mutiny of 1946 dealt a decisive blow to British 
colonial aspirations in India in the following ways:
1.	 Symbol of Discontent: The naval mutiny 

represented the widespread discontent among 
Indians towards British rule, indicating that 
even the armed forces were against British 
discrimination and ill-treatment.

2.	 Solidarity of Indian Military: The mutiny 
showcased the unity of Indian military personnel 
in standing against British authority, undermining 
the British reliance on their military to control 
India.

3.	 Inept Handling: The British government's 
handling of the mutiny was poorly executed, 
worsening the situation and further damaging 
their reputation in India.

4.	 Political Impact: The mutiny strengthened the 
Indian National Congress's demand for immediate 
independence, as it demonstrated that the British 
were losing control over India.

5.	 Wake-up Call: The mutiny served as a wake-up 
call for the British government, making them 
realise the urgency of granting independence to 
India.

6.	 Demoralization of British Army: The mutiny 
demoralised the British army, already affected by 
World War II and raised doubts about their ability 
to govern India.

7.	 Highlighting Indian Resentment: The mutiny 
highlighted the deep resentment of Indians 
towards British rule and their readiness to take 
drastic measures for freedom.

The Naval Mutiny of 1946 acted as a catalyst that further 
weakened British authority, exposed the depth of Indian 
resentment against colonial rule and contributed to the 
accelerated process of India's independence. While other 
factors also played a role the mutiny represented a turning 
point in the narrative of India's struggle for freedom.

Q8.	 What were the major political, economic 
and social developments in the world which 
motivated the anti-colonial struggle in 
India?	 (150 words) [10]

Approach to question:
1.	 Major political developments, such as the rise of 

nationalism and the idea of self-determination 
in Europe, provided inspiration for anti-colonial 
struggles in India.

2.	 Economic developments, such as the Great 
Depression, led to a decline in the demand 
for Indian goods and a fall in the prices of 
agricultural products, leading to a rise in poverty 
and unemployment.

3.	 Social developments, such as the spread of 
education and the growth of a middle class, 
created a new awareness of rights and a desire 
for greater political participation.

Answer:
The reason behind the major political, economic and 
social developments in the world which motivated the 
anti-colonial struggle in India are as follows:

1.	 Rise of Nationalist Movements: Various nationalist 
movements emerged across India, seeking an end 
to colonial rule and self-rule for the country.

2.	 Influence of Western Ideas: Liberalism, democracy 
and self-determination gained popularity globally 
and influenced the Indian anti-colonial struggle.

3.	 Economic Exploitation: British exploitation of 
India's resources and economy led to widespread 
poverty, wealth drain, economic stagnation and 
social inequality.

4.	 Impact of World Wars: India's contribution to 
British war efforts in World Wars I and II fueled 
anti-colonial sentiment, weakening British hold 
over colonies.

5.	 Influence of Socialist Ideas: Socialist ideas gained 
traction in India, addressing economic and social 
disparities created by British colonialism.

6.	 Emergence of Indian Leaders: Leaders like 
Mahatma Gandhi, Jawaharlal Nehru and Subhash 
Chandra Bose provided direction and momentum 
to the struggle.
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7.	 Struggle for Civil Liberties: British curtailed civil 
liberties and suppressed dissent, fueling demands 
for greater political freedom and rights..

The anti-colonial struggle in India was driven by 
political, economic and social motivations, alongside 
global influences, leading to the country's eventual 
independence.

Q9.	 What were the events that led to the Suez 
Crisis in 1956? How did it deal a final blow 
to Britain’s self-image as a world power?

(150 words) [10]

Approach to question:
1.	 The Suez Canal was nationalised by Egypt's 

President Gamal Abdel Nasser in July 1956.
2.	 This action sparked outrage from Britain and 

France, who feared the loss of their strategic 
interests in the region.

3.	 They joined forces with Israel to launch a 
surprise attack on Egypt in October 1956, under 
the pretext of restoring order in the region.

4.	 The crisis ended in a diplomatic defeat for Britain 
and France, who were forced to withdraw their 
forces and cede control of the canal to Egypt.

Answer:
The Suez Crisis of 1956 was a significant event in modern 
history that had far-reaching implications for international 
relations and Britain's self-perception as a global power. 
Events Leading to the Suez Crisis:

1.	 Nationalization of the Suez Canal: In 1956, Egypt's 
President Gamal Abdel Nasser nationalized the 
Suez Canal, a vital waterway controlled by the 
British and French since the 19th century, to fund 
the construction of the Aswan High Dam.

2.	 Anglo-American Withdrawal of Aid: The US and 
UK had initially offered financial support for the 
dam project, but they withdrew their aid following 
Egypt's growing ties with the Soviet Union and 
the Arab world.

The Final Blow to Britain's Self-Image:

1.	 International Isolation: The Suez Crisis resulted 
in Britain's isolation on the global stage, with even 
its closest allies opposing its actions. 

2.	 Economic Pressures: The US threatened Britain 
with economic sanctions, forcing the British 
government to withdraw its forces and accept a 
humiliating defeat.

The Suez Crisis of 1956 was a turning point in British 
history, exposing its diminishing power and influence on 
the world stage. 

Q10. The New Economic Policy – 1921 of Lenin 
had influenced the policies adopted by India 
soon after independence. Evaluate.

(150 words) [10]

Approach to question:
1.	 The New Economic Policy (NEP) was introduced 

by Lenin in 1921 to address the economic crisis in 
Soviet Russia following the Russian Revolution 
of 1917.

2.	 India's first Prime Minister, Jawaharlal 
Nehru, advocated for a mixed economy that 
incorporated both private and public sectors.

3.	 The NEP had a significant influence on India's 
industrialization policies, particularly in the 
early years after independence.

Answer:
The New Economic Policy (NEP) introduced by Lenin in 
1921 in Soviet Russia aimed to revive the economy after the 
devastation of World War I and the Civil War. After India's 
independence in 1947, the government adopted policies 
influenced by the NEP to rebuild the Indian economy.
1.	 Agrarian Reforms: The NEP emphasized agrarian 

reforms, leading India to adopt land reforms for 
increased agricultural productivity and rural 
development.

2.	 Public Sector: The NEP allowed coexistence of 
public and private sectors; India established state-
controlled industries like steel, coal and oil to 
contribute significantly to economic growth.

3.	 Industrialization: Both the NEP and India's 
policies focused on industrialization through 
state-owned industries and heavy industry 
development for self-sufficiency.

4.	 Mixed Economy: NEP's idea of mixed economy 
with private and public sectors was adopted by 
India, encouraging private enterprise and foreign 
investment alongside state-owned enterprises.

The NEP significantly influenced India's economic 
policies, leading to successful reforms in agrarian practices, 
industrialization, public sector establishment and the 
implementation of Five Year Plans. India's adoption of 
a mixed economy proved effective in achieving rapid 
economic growth and elevating it to a major global 
economic power.

Q11. How does patriarchy impact the position of a 
middle class working woman in India?

(150 words) [10]

Approach to question:
1.	 Patriarchy is a deeply ingrained social system in 

India that promotes male dominance and female 
subordination.

2.	 Despite progress towards gender equality, 
patriarchy continues to impact the position of 
middle class working women in India.

3.	 Women are expected to balance their career with 
traditional gender roles such as taking care of the 
household and children.

4.	 There is a gender wage gap where women are 
paid less than their male counterparts for the 
same work.
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Answer:
Patriarchy, as a deeply ingrained social system, has far-
reaching implications for middle-class working women in 
India:

1.	 Limited Opportunities: Patriarchy restricts 
women's access to education and job opportunities, 
limiting their ability to pursue economically 
rewarding careers.

2.	 Gender Wage Gap: Women in India face a 
substantial gender wage gap, earning less 
than their male counterparts for the same job, 
reinforcing workplace gender inequalities.

3.	 Discrimination: Patriarchy leads to workplace 
discrimination against women, denying 
them promotions and career advancement 
opportunities.

4.	 Double Burden: Middle-class working women are 
expected to manage household chores and child 
care responsibilities alongside their professional 
duties, creating a double burden.

5.	 Safety Concerns: Patriarchy contributes to an 
unsafe environment for women in workplaces, 
with sexual harassment and assault being 
prevalent, dissuading women from entering or 
staying in the workforce.

6.	 Cultural Norms: Cultural norms further reinforce 
patriarchy by emphasizing traditional gender 
roles, hindering women's opportunities for self-
fulfilment and advancement.

7.	 Lack of Support: Working women may face 
resistance from family members who do not 
support their career choices, adding to the 
challenges they encounter.

Despite some progress, achieving gender equality in 
the workplace remains a significant challenge. Efforts 
to address patriarchy's impact on middle-class working 
women must encompass changes in social attitudes, 
workplace policies and broader cultural norms. Creating 
an environment that provides equal opportunities and 
empowers women to thrive professionally is essential for 
breaking free from the grip of patriarchy and fostering a 
more equitable society.

Q12.	 Why do some of the most prosperous 
regions of India have an adverse sex ratio for 
women? Give your arguments.

(150 words) [10]

Approach to question:
1.	 Patriarchal Social Norms: Many prosperous 

regions of India still follow traditional patriarchal 
norms that prioritise the birth of a male child and 
discriminate against girls, resulting in female 
infanticide, sex-selective abortions and neglect 
of girl children.

2.	 Migration: Many prosperous regions of India 
have a high rate of migration, leading to the 
influx of male workers and a decrease in the 
number of women in the region.

3.	 Medical Advancements: With advancements in 
medical technology, sex-selective abortions have 
become more accessible, resulting in a decline in 
the number of girl children being born.

Answer:
The adverse sex ratio for women in some of the most 
prosperous regions of India is a perplexing issue. Despite 
advancements in education, economic development and 
healthcare, certain areas still exhibit skewed gender ratios. 
This phenomenon demands a nuanced examination to 
understand its underlying causes and implications.

1.	 Cultural Norms: In prosperous regions, traditional 
patriarchal values may persist, favouring sons over 
daughters. The desire for male heirs to continue 
family legacies and provide support in old age 
perpetuates the preference for sons.

2.	 Economic Factors: Economic prosperity can lead 
to increased dowry demands, making daughters 
an economic burden on families. This financial 
burden discourages the birth or raises concern for 
the survival of female children.

3.	 Sex-Selective Practices: Access to advanced 
medical technologies, like ultrasound, has 
facilitated sex-selective abortions. Pre-natal sex 
determination and female feticide are practiced in 
some communities, contributing to the skewed sex 
ratio.

4.	 Migration and Labour Patterns: Prosperous regions 
often attract a predominantly male workforce, 
leading to imbalanced local demographics, where 
women may be left behind in their place of origin.

5.	 Education and Empowerment: Ironically, 
improved education and empowerment of 
women in these regions can be seen as a threat to 
traditional gender norms, leading to a preference 
for fewer female children.

Addressing the adverse sex ratio for women in prosperous 
regions necessitates a multifaceted approach. Raising 
awareness about gender equality, enforcing laws against 
sex determination and promoting economic incentives for 
the girl child can help in rectifying this issue. Furthermore, 
integrating women's empowerment programmes into 
development initiatives is crucial to fostering a society 
where gender parity is upheld alongside prosperity.

Q13. The life cycle of a joint family depends on 
economic factors rather than social values. 
Discuss.	 (150 words) [10]
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Approach to question:
1.	 Joint family is a common form of family in India 

where multiple generations live together under 
the same roof.

2.	 Joint families are often seen as a reflection of 
social values and traditions in India.

3.	 However, the life cycle of a joint family is 
primarily determined by economic factors rather 
than social values.

4.	 Economic factors like availability of jobs, 
urbanization and migration play a crucial role in 
the formation and dissolution of joint families.

Answer:
The joint family system, deeply rooted in traditional 
societies, has been a defining feature of Indian culture 
for centuries. It is characterized by multiple generations 
living together under one roof, sharing resources, 
responsibilities and maintaining strong social ties. 

1.	 Economic Prosperity: A joint family flourishes 
when economic prosperity prevails. Adequate 
financial resources ensure the well-being of all 
members, promote unity and foster a sense of 
security within the family.

2.	 Property and Inheritance: Disputes over property 
and inheritance rights often lead to conflicts 
within joint families. Economic factors influence 
the distribution of assets, sometimes causing 
divisions and eventual disintegration.

3.	 Urbanization and Industrialization: As 
urbanization and industrialization take hold, job 
opportunities lure family members away to distant 
cities, leading to the fragmentation of the joint 
family as economic necessity prioritizes individual 
livelihoods.

4.	 Changing Career Aspirations: Economic 
opportunities may compel younger members 
to pursue careers and education outside their 
ancestral homes, contributing to the breakdown of 
joint family bonds.

5.	 Cost of Living: The rising cost of living has 
necessitated smaller nuclear families that can 
manage expenses more efficiently than large joint 
families, thus reducing their prevalence.

6.	 Financial Independence: With greater financial 
independence and individual earning capacity, 
younger generations seek autonomy, challenging 
the traditional interdependence of joint families.

7.	 Social Welfare Policies: Government policies 
aimed at supporting nuclear families, such as 
subsidies and tax benefits, indirectly influence the 
formation of smaller, nuclear households.

While social values have historically played a significant 
role in sustaining joint families, the changing economic 
landscape has emerged as a dominant force in 
determining their life cycle. Economic factors, including 

financial prosperity, property issues, urbanization, career 
choices and government policies, now exert considerable 
influence over the shape and prevalence of joint families

Q14. Discuss the various economic and socio-
cultural forces that are driving increasing 
feminization of agriculture in India.

(150 words) [10]

Approach to question:
1.	 Increasing male migration from rural to urban 

areas for better job opportunities and higher 
wages.

2.	 Greater access to education and training for 
women in agriculture.

3.	 Increasing role of women in decision making 
related to agriculture due to their increased 
involvement in farming activities.

4.	 Government policies and programmes aimed at 
empowering women in agriculture.

Answer:
Feminization of agriculture is a process where women are 
increasingly becoming the primary agricultural labour 
force in rural areas. The various economic and socio-
cultural forces driving this trend in India are:
1.	 Male Migration: Men from rural areas are migrating 

to urban areas in search of better job opportunities. 
This has led to a shortage of male labour in 
agriculture and has created an opportunity for 
women to take up farming activities.

2.	 Land Fragmentation: Landholding in India is 
highly fragmented and small plots of land are 
becoming increasingly uneconomical for male 
farmers. 

3.	 Mechanization of Agriculture: The mechanization 
of agriculture has led to the replacement of 
traditional manual labour with machines. 

4.	 Social and Cultural Changes: Women's 
participation in agriculture is also driven by 
changes in social attitudes and cultural values. 

5.	 Government Policies: Government policies have 
played a significant role in promoting women's 
participation in agriculture. 

6.	 Climate Change: Climate change has also played a 
role in the feminization of agriculture. 

7.	 Gender Discrimination: Gender discrimination 
and patriarchy have also played a role in the 
feminization of agriculture. 

In conclusion, the increasing feminization of agriculture 
in India is driven by a combination of economic, social 
and cultural factors. Increasing role of women in decision 
making related to agriculture due to their increased 
involvement in farming activities It is important to 
recognise the contributions of women farmers and to 
address the challenges they face in accessing resources 
and support. Government policies must be designed to 
address these challenges and promote gender equality in 
agriculture.
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Q15.	 How do the Indian debates on secularism 
differ from the debates in the West?

(150 words) [10]

Approach to question:
1.	 In India, the term secularism refers to the 

separation of religion and state, whereas in the 
West it is associated with the idea of religious 
neutrality and equal treatment of all religions.

2.	 The Indian debates on secularism are often 
focused on the role of religion in politics and the 
state's responsibility to protect minority religions, 
whereas in the West, debates are more focused 
on the balance between religious freedom and 
the rights of others.

Answer:
Debates on secularism in India and the West differ in 
significant ways due to their historical, cultural and socio-
political contexts. While both contexts involve discussions 
about the separation of religion and government, the 
specific issues and nuances are distinct.
Indian debates on secularism differ from the debates in 
the West in the following ways:
1.	 Historical Context: The concept of secularism in 

India emerged as a response to religious conflict 
and partition, while in the West, it developed in 
response to religious wars between different sects 
of Christianity.

2.	 Pluralism: India's secularism is characterized by 
its pluralistic approach towards religion and its 
recognition of the diversity of religious beliefs and 
practices, while the Western concept of secularism 
is often more concerned with the separation of 
church and state.

3.	 Role of State: In India, the state has been given the 
responsibility of ensuring that no religious group is 
discriminated against or given preferential treatment, 
while in the West, the state is often seen as a neutral 
arbiter that maintains a distance from religion.

4.	 Definition of Secularism: In India, secularism 
is often understood as the equal treatment of all 
religions, while in the West, it is often seen as the 
exclusion of religion from public life.

5.	 Religious Freedom: India's secularism is rooted 
in the principle of religious freedom, which is 
enshrined in the Indian Constitution, while the 
Western concept of secularism is often focused on 
individual rights and freedoms.

6.	 Contextualization: In India, secularism is often 
understood in the context of the country's history 
of religious conflict and diversity, while in the 
West, it is often debated in the context of broader 
political and philosophical debates.

Overall, the Indian debates on secularism are shaped by 
the country's unique history and context, as well as its 
commitment to religious pluralism and the protection 
of individual rights. While there are some similarities 
between the Indian and Western concepts of secularism, 

there are also significant differences that reflect the 
distinct cultural, political and social contexts in which 
they have emerged.

Q16. Most of the unusual climatic happenings 
are explained as an outcome of the El-Nino 
effect. Do you agree?	 (150 words) [10]

Approach to question:
1.	 El Niño is a climate pattern that occurs in the 

tropical Pacific Ocean, characterized by a warming 
of sea surface temperatures in that region.

2.	 The warming of the ocean can lead to changes in 
atmospheric pressure and wind patterns, which 
can in turn affect weather patterns across the 
globe.

3.	 El Niño is known to cause a range of unusual 
climatic happenings, such as droughts, floods 
and storms, in various parts of the world.

4.	 However, not all unusual climatic events can be 
attributed solely to the El Niño effect.

Answer:
El Niño is a climatic phenomenon that occurs due to the 
irregular warming of the sea surface temperatures in the 
equatorial Pacific Ocean. It is associated with a range of 
weather events that can affect regions across the globe. 
However, it is important to evaluate whether most of the 
unusual climatic happenings can be solely attributed to 
the El Niño effect.
Arguments in favour:

1.	 El Niño events are known to cause extreme 
weather conditions such as droughts, floods and 
cyclones in various parts of the world.

2.	 The warming of sea surface temperatures can 
cause changes in atmospheric circulation patterns, 
leading to changes in rainfall and temperature 
patterns.

3.	 El Niño is associated with warmer-than-normal 
winters in North America, which can result in 
milder temperatures and less snowfall.

4.	 The impact of El Niño is not limited to just weather 
conditions, but it can also cause oceanic changes, 
such as coral bleaching and changes in fish 
populations.

Arguments against:

1.	 While El Niño can explain some climatic events, 
it cannot be solely attributed to all of them. 
Other factors such as global warming, oceanic 
oscillations and atmospheric patterns can also play 
a significant role.

2.	 Unusual climatic happenings, such as extreme heat 
waves and heavy rainfall, can occur in regions that 
are not directly affected by El Niño.

In conclusion, while El Niño is a significant climatic 
phenomenon that can impact weather patterns globally, 
it cannot be solely attributed to all unusual climatic 
happenings. Other factors such as global warming, 
atmospheric patterns and oceanic oscillations can also 
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play a role. It is important to take a holistic approach 
to climate change and consider all the factors that can 
contribute to unusual climatic events.

Q17. Why are the world’s fold mountain systems 
located along the margins of continents? 
Bring out the association between the global 
distribution of fold mountains and the 
earthquakes and volcanoes.  (150 words) [10]

Approach to question:
1.	 Fold mountain systems are formed due to the 

converging of two tectonic plates, resulting in 
the compression and folding of the rocks in the 
region.

2.	 These converging plates are typically found 
along the margins of continents, where oceanic 
plates meet continental plates or where two 
continental plates collide.

3.	 The compression and folding of rocks in these 
mountain systems can result in the build-up of 
stress and strain, which can lead to earthquakes 
and volcanic activity in the region.

Answer:
Fold mountains are formed by the compression of the 
Earth's crust. They are primarily located along the margins 
of continents because:

1.	 Convergent Plate Boundary: Fold mountains are 
formed at convergent plate boundaries, where two 
tectonic plates collide and one is pushed beneath 
the other. As continents are thicker and less dense 
than oceanic plates, the collision between two 
continents forms fold mountains.

2.	 Subduction Zone: At a subduction zone, where 
an oceanic plate is pushed beneath a continental 
plate, the oceanic plate sinks into the mantle and 
melts. The melting of the plate creates magma that 
rises to the surface and creates volcanoes. This 
process also contributes to the formation of fold 
mountains.

3.	 Continental Collision: When two continents 
collide, neither plate can sink beneath the other 
due to their similar densities, resulting in a 
compression of the crust and formation of fold 
mountains.

The association between the global distribution of fold 
mountains and earthquakes and volcanoes is as follows:

1.	 Earthquakes: The formation of fold mountains 
can cause earthquakes as the pressure and stress 
exerted on the crust due to the compression and 
deformation can cause the rocks to break and 
move suddenly along fault lines.

2.	 Volcanoes: In some cases, the formation of fold 
mountains can create volcanic activity. 

3.	 Hotspots: Some fold mountains, such as the 
Rocky Mountains, are not associated with tectonic 

plate boundaries but are formed due to hotspots, 
where magma rises from the mantle and creates 
mountains.

In conclusion, the world's fold mountain systems are 
located along the margins of continents due to the 
convergent plate boundaries, subduction zones and 
continental collision that occur there. 

Q18.	 Explain the formation of thousands of islands 
in Indonesian and Philipines archipelagos.

(150 words) [10]

Approach to question:
1.	 The Indonesian and Philippine archipelagos are 

situated in a seismically active region known as 
the Ring of Fire.

2.	 The islands were formed due to the collision 
of several tectonic plates, including the Pacific 
Plate, the Eurasian Plate and the Australian 
Plate.

3.	 The movement of these plates caused the 
Earth's crust to buckle and fold, resulting in the 
formation of mountains and volcanic activity.

Answer:
The Indonesian and Philippine archipelagos consist of 
thousands of islands and their formation is the result 
of various geological processes. The following are the 
explanations for the formation of these islands:

1.	 Plate Tectonics: The islands in the Indonesian and 
Philippine archipelagos were formed due to the 
movement of tectonic plates. The region lies in 
the "Ring of Fire," which is the boundary where 
the Pacific plate meets other plates. The plates' 
movement causes subduction, leading to the 
formation of volcanoes and volcanic islands.

2.	 Volcanic Activity: The islands in the region 
are mainly volcanic in origin. Volcanic activity 
results in the accumulation of molten rock, which 
eventually forms islands. The islands' volcanic 
activity is also responsible for the formation of hot 
springs, geysers and other geothermal features.

3.	 Coral Reefs: Coral reefs play a vital role in the 
formation of islands in the region. The coral reefs 
are formed by the accumulation of limestone, 
which is produced by the remains of dead coral. 
The coral reefs trap sediments, which eventually 
lead to the formation of islands.

4.	 Erosion: Erosion is another factor that contributes 
to the formation of islands. The action of waves 
and weathering over time can break down rock 
and soil, which then accumulate on the seabed to 
form islands.

In conclusion, the formation of thousands of islands in 
the Indonesian and Philippine archipelagos is the result 
of various geological processes, including plate tectonics, 
volcanic activity, coral reef formation, erosion and glacial 
activity. The region's location in the Ring of Fire and its 
associated tectonic activity plays a significant role in the 



109General Studies Paper-I (2014)

formation of the islands. Additionally, volcanic activity 
contributes to the formation of many of the region's 
islands, which are characterised by geothermal features 
such as hot springs and geysers.

Q19. Tropical cyclones are largely confined to 
South China Sea, Bay of Bengal and Gulf of 
Mexico. Why?	 (150 words) [10]

Approach to question:
1.	 Tropical cyclones are formed over warm ocean 

waters, typically between 5° and 30° latitude, 
where the sea surface temperature is above 27°C.

2.	 The South China Sea, Bay of Bengal and Gulf 
of Mexico fall within this range of latitudes and 
have warm sea surface temperatures, making 
them favourable for the formation of tropical 
cyclones.

Answer:
Tropical cyclones are large-scale weather systems 
characterised by low-pressure centres and thunderstorms, 
with strong winds, heavy rainfall and storm surges. The 
occurrence of tropical cyclones is confined to specific 
regions of the world, such as the South China Sea, 
Bay of Bengal and Gulf of Mexico. The reasons for this 
confinement can be explained as follows:

1.	 Warm Ocean Waters: Tropical cyclones require 
warm ocean waters to form and intensify. The 
South China Sea, Bay of Bengal and Gulf of Mexico 
are all regions with warm ocean waters, which 
makes them conducive to the formation and 
intensification of tropical cyclones.

2.	 Coriolis Effect: The Coriolis effect, which is 
caused by the Earth's rotation, is necessary for the 
formation of tropical cyclones. This effect deflects 
moving objects to the right in the Northern 
Hemisphere and to the left in the Southern 
Hemisphere. 

3.	 Monsoons: The South China Sea and Bay of 
Bengal are affected by the monsoon winds, which 
provide the necessary atmospheric conditions for 
the formation of tropical cyclones. 

4.	 Geographical Location: The Gulf of Mexico, South 
China Sea and Bay of Bengal are all located in 
regions where there are no major landmasses to 
disrupt the flow of the ocean currents and winds. 

In conclusion, the confinement of tropical cyclones to 
specific regions of the world, such as the South China Sea, 
Bay of Bengal and Gulf of Mexico, can be attributed to 
the warm ocean waters, the Coriolis effect, the monsoons 
and the geographical location of these regions. These 
factors create the necessary atmospheric conditions for 
the formation and intensification of tropical cyclones.

Q20. Bring out the relationship between the 
shrinking Himalayan glaciers and the 

symptoms of climate change in the Indian 
subcontinent.	 (150 words) [10]

Approach to question:
1.	 Himalayan glaciers are the largest repository of 

ice outside the polar regions and are a critical 
source of water for millions of people in South 
Asia.

2.	 The melting of glaciers is leading to the formation 
of glacial lakes, which increases the risk of glacial 
lake outburst floods (GLOFs) and landslides in 
the region.

3.	 The loss of ice and snow cover is causing changes 
in the hydrological cycle, leading to altered river 
flow patterns, affecting water availability for 
irrigation, drinking and other uses.

Answer:
The relationship between the shrinking Himalayan 
glaciers and the symptoms of climate change in the Indian 
subcontinent can be explained as follows:

1.	 Melting Glaciers: The Himalayan glaciers act as 
a natural regulator of the Indian subcontinent's 
water supply. The melting of these glaciers, which 
has been accelerated by rising temperatures, has 
led to a reduction in freshwater resources. This 
has contributed to the water crisis faced by several 
states in India, leading to more frequent droughts 
and crop failures.

2.	 Changes in Precipitation: Climate change has 
altered the precipitation patterns across the Indian 
subcontinent. With the melting of glaciers and the 
decrease in the snow cover in the Himalayas, there 
has been a change in the timing and amount of 
snow and rainfall. This has resulted in increased 
incidents of flash floods and landslides.

3.	 Rise in Sea Levels: The melting glaciers have led 
to a rise in sea levels. This has resulted in the loss 
of land along the coastal areas of India, impacting 
the lives of millions of people who rely on coastal 
resources for their livelihood.

4.	 Impacts on Biodiversity: The melting of glaciers 
has affected the ecosystems in the Himalayan 
region. 

5.	 Carbon Sink: The Himalayan glaciers play a 
critical role as a carbon sink, absorbing carbon 
dioxide from the atmosphere. 

6.	 Impact on Human Health: Climate change has 
also affected the health of people living in the 
Indian subcontinent. 

In conclusion, the shrinking Himalayan glaciers have 
led to several symptoms of climate change in the 
Indian subcontinent. The impacts range from the loss 
of freshwater resources to the loss of biodiversity and 
human health. The need of the hour is to implement 
measures to mitigate the impacts of climate change and 
reduce greenhouse gas emissions.
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Q21. Whereas the British planters had developed 
tea gardens all along the Shivaliks and 
Lesser Himalayas from Assam to Himachal 
Pradesh, in effect they did not succeed 
beyond the Darjeeling area. Explain.

(150 words) [10]

Approach to question:
1.	 The Shivalik and Lesser Himalayan regions are 

known for their suitable climate and soil for tea 
cultivation.

2.	 However, they faced several challenges in 
expanding tea cultivation beyond Darjeeling 
area, such as:

3.	 The steep terrain of the region made it difficult 
to develop plantations and infrastructure.

4.	 The absence of roads and transportation made 
it challenging to transport tea from the remote 
regions.

5.	 The indigenous communities in the region were 
hostile towards the British planters and there 
were frequent conflicts between them.

Answer:
The British colonial presence in India led to the 
establishment of tea gardens across various regions, 
especially along the Shivaliks and Lesser Himalayas 
from Assam to Himachal Pradesh. While they achieved 
considerable success in Darjeeling, their efforts were 
limited beyond this area. Several factors contributed to 
this discrepancy in their success:

1.	 Tea was introduced to India by the British East 
India Company in the early 19th century with the 
establishment of tea gardens in Assam.

2.	 The planters expanded tea cultivation to other 
parts of India including the Shivaliks and Lesser 
Himalayas from Assam to Himachal Pradesh.

3.	 One of the main reasons for this was the climatic 
conditions required for tea cultivation. Tea plants 
require a cool and moist climate with well-drained 
soil.

4.	 Another reason for the limited success of tea 
cultivation beyond Darjeeling was the difficulty in 
transporting tea leaves from remote areas to the 
markets.

5.	 The hilly terrain and lack of proper transport 
infrastructure made it difficult to transport tea 
leaves to the markets on time. This resulted in 
a decline in the quality of tea leaves, making it 
difficult for planters to compete in the market.

6.	 Additionally, the socio-economic conditions of the 
areas beyond Darjeeling were not conducive to 
tea cultivation. The local population in these areas 
were not used to cultivating tea and did not have 
the necessary skills and knowledge to do so.

In conclusion, while the British planters had expanded tea 
cultivation to other parts of India beyond Darjeeling, they 
did not succeed due to unsuitable climatic conditions, lack 

of proper transport infrastructure and socio-economic 
factors. 

Q22. Why did the Green Revolution in India 
virtually by-pass the eastern region despite 
fertile soil and good availability of water?

(150 words) [10]

Approach to question:
1.	 The eastern region of India comprises states like 

West Bengal, Bihar, Odisha and eastern Uttar 
Pradesh.

2.	 The Green Revolution was primarily driven by 
the introduction of high-yielding varieties of 
wheat and rice.

3.	 The success of the Green Revolution was largely 
confined to the north western parts of India, 
particularly Punjab, Haryana and western Uttar 
Pradesh.

Answer:
The Green Revolution was a significant turning point 
in India's agricultural history, bringing about increased 
productivity and self-sufficiency in food production. 
1.	 Land Tenure System: The land tenure system in 

the eastern region was different from the rest of 
the country, with a majority of the land owned by 
absentee landlords, resulting in fragmented land 
holdings and difficulties in implementing modern 
farming practices.

2.	 Soil Characteristics: The eastern region has 
laterite soil that is high in iron and aluminium 
content, which makes it acidic and unsuitable for 
rice varieties developed for the Green Revolution.

3.	 Water Management: The region has an extensive 
network of rivers and water bodies, but the lack 
of irrigation facilities and water management 
practices has made it difficult to implement 
modern farming practices.

4.	 Lack of Infrastructure: The region has inadequate 
infrastructure, such as road networks, power 
supply and storage facilities, which makes it 
difficult to transport and store crops.

5.	 Political Factors: The political climate in the region 
was not conducive to the implementation of 
modern farming practices, with a lack of political 
will and bureaucratic inefficiencies.

6.	 Farming Practices: Traditional farming practices 
in the region have been highly diversified, with 
a focus on subsistence agriculture and multiple 
cropping, making it difficult to adopt modern 
farming practices.

7.	 Research and Development: There was a lack of 
research and development in the eastern region, 
with inadequate extension services and limited 
access to new farming technologies.

In conclusion, the Green Revolution virtually by-passed 
the eastern region of India due to a combination of factors, 
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including the land tenure system, soil characteristics, 
water management practices, lack of infrastructure, 
political factors, traditional farming practices, research 
and development and market access. 

Q23. Account for the change in the spatial pattern 
of the iron and steel industry in the world.

(150 words) [10]

Approach to question:
1.	 The iron and steel industry initially developed in 

regions with abundant natural resources such as 
coal, iron ore and limestone.

2.	 With the industrial revolution, countries with 
access to these resources became dominant 
producers, including the UK, Germany and the 
United States.

3.	 After World War II, the industry expanded 
globally as countries sought to rebuild their 
economies and new sources of raw materials 
were discovered, including in developing 
countries.

4.	 In recent years, there has been a shift towards 
more efficient production methods and 
increased use of recycling, reducing the need for 
traditional raw materials.

Answer:
The spatial pattern of the iron and steel industry has 
undergone significant changes over time due to various 
factors, including shifts in raw material availability, 
technological advancements, economic considerations 
and changes in global trade dynamics.
The change in the spatial pattern of the iron and steel 
industry in the world are as follows:
1.	 Access to Raw Materials: The availability and 

proximity of raw materials, particularly iron ore 
and coal, have historically determined the location 
of iron and steel industries. Initially, regions with 
abundant resources, such as the United States, 
Germany and the United Kingdom, dominated 
the industry.

2.	 Transportation Infrastructure: Efficient 
transportation systems, including railways, ports 
and highways, are vital for the movement of raw 
materials and finished products in the iron and 
steel industry. 

3.	 Labour Costs: The cost of labour significantly 
impacts the industry's location. Initially, the 
industry concentrated in countries with low 
labour costs. 

4.	 Government Policies: Government policies and 
incentives also influence the spatial distribution of 
the iron and steel industry. 

5.	 Globalization: The process of globalization has 
reshaped the iron and steel industry's spatial 
pattern. Global trade and supply chain integration 
have facilitated the movement of production to 
regions with lower costs and greater market access.

6.	 Technological Advancements: Technological 
advancements have revolutionized the industry, 
leading to new production methods and 
efficiencies. Introduction of electric arc furnaces, 
continuous casting and advanced automation has 
allowed the industry to expand to new regions.

7.	 Environmental Regulations: Stringent 
environmental regulations have driven industries 
to relocate or adapt to meet sustainability 
standards. Some countries and regions have seen 
an outflow of polluting industries to locations with 
less stringent regulations.

In conclusion, the spatial pattern of the iron and steel 
industry is shaped by a combination of factors, including 
access to raw materials, transportation infrastructure, 
labour costs, government policies, globalization, 
technological advancements, environmental regulations, 
market demand, economic growth and industry 
consolidation. 

Q24. Critically evaluate the various resources of 
the oceans which can be harnessed to meet 
the resource crisis in the world.

(150 words) [10]

Approach to question:
1.	 The oceans are a vast and largely untapped 

resource with enormous potential for 
contributing to human well-being, including in 
areas such as food, energy and medicine.

2.	 Marine fisheries are a major source of protein 
for millions of people around the world, but 
overfishing and other unsustainable practices 
have led to declining fish populations and 
threats to marine ecosystems.

3.	 The oceans contain a wide variety of minerals 
and metals that could be used for a range of 
purposes, including in the manufacture of high-
tech products such as smartphones and electric 
cars. However, deep-sea mining is a controversial 
and potentially risky activity, with concerns 
about the impacts on fragile deep-sea ecosystems 
and the potential for accidents or spills.

Answer:
The oceans cover about 71% of the earth's surface and 
contain a vast array of resources that can be harnessed 
to meet the resource crisis in the world. Here is a critical 
evaluation of the various resources of the oceans:

1.	 Energy: The oceans contain various forms of 
energy, such as wave, tidal and thermal energy, 
which can be harnessed for power generation. 
However, the cost of harnessing these forms of 
energy is still high and the technology is still 
underdeveloped.

2.	 Minerals: The oceans contain a wide range 
of minerals, including copper, cobalt, nickel, 
manganese and rare earth metals. These minerals 
can be extracted from the seabed using advanced 
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technology. However, the mining of these minerals 
can have significant environmental impacts.

3.	 Fish and Other Seafood: The oceans are home to a 
vast variety of fish and other seafood, which are a 
critical source of protein for human consumption. 
However, overfishing has led to the depletion of 
fish stocks and the aquaculture industry has its 
own environmental challenges.

4.	 Water: The oceans contain a vast amount of water, 
which can be desalinated to provide drinking 
water and for irrigation purposes. 

5.	 Pharmaceuticals: The oceans contain a wide range 
of marine organisms that produce compounds 
with potential pharmaceutical applications. 

6.	 Tourism: The oceans are a significant source of 
tourism, with activities such as snorkelling, diving 
and beach vacations.

In conclusion, while the oceans contain vast resources 
that can be harnessed to meet the resource crisis in 
the world, it is essential to do so in a sustainable and 
environmentally responsible manner. Any exploitation 
of these resources should take into account the potential 
environmental impacts and ensure that the benefits are 
shared equitably.

Q25.	 How does India see its place in the economic 
space of rising natural resources rich Africa?

(150 words) [10]

Approach to question:
1.	 India views Africa as an important partner in its 

economic growth and development and seeks to 
deepen its economic ties with the continent.

2.	 India is interested in leveraging Africa's 
natural resources, including oil, gas, minerals 
and agricultural products, to support its own 
economic growth and development.

3.	 India has prioritized investment in Africa, with 
a focus on infrastructure development, energy, 
agriculture and manufacturing.

4.	 India is also engaged in capacity-building 
initiatives in Africa, including providing technical 
assistance and training to African entrepreneurs 
and government officials.

Answer:
As Africa emerges as a significant player in the global 
economy due to its abundant natural resources, India 

sees opportunities to foster a symbiotic relationship that 
can enhance economic growth and development for both 
regions. This growing economic engagement aligns with 
India's "Act East" policy and its desire to deepen ties with 
Africa.

1.	 Strategic Partnership: India perceives Africa as 
a crucial partner for its economic growth and 
development due to its vast natural resources and 
a young population.

2.	 Resource Leveraging: India aims to utilise Africa's 
natural resources, such as oil, gas, minerals and 
agricultural products, to support its own economic 
needs.

3.	 Investment Focus: India prioritises investment 
in Africa, particularly in infrastructure, energy, 
agriculture and manufacturing sectors to enhance 
economic cooperation.

4.	 Capacity Building: India engages in capacity-
building initiatives to provide technical assistance 
and training to African entrepreneurs and 
government officials, fostering human capital 
development.

5.	 Countering China's Influence: Geopolitically, 
India aims to build alliances with African countries 
to balance China's growing influence on the 
continent.

6.	 Multilateral Cooperation: India seeks increased 
cooperation with African nations in multilateral 
forums, advocating for reforms to better represent 
the interests of developing countries.

7.	 Sustainable Development: India promotes 
sustainable development in Africa through 
initiatives like the International Solar Alliance and 
the India–Africa Clean Energy Fund.

8.	 Regional Integration: India's engagement with 
Africa aims to foster regional integration and 
strengthen economic ties between the two regions.

9.	 Shared Values: India's engagement with Africa 
is also influenced by shared values and historical 
ties, fostering cultural and diplomatic connections.

In conclusion, India's perception of its place in the 
economic space of rising natural resources rich Africa is 
characterised by a strategic partnership approach, focused 
on leveraging resources, investments, capacity-building 
and sustainable development initiatives. 


